Computer Proficiency Certification Test

Notations :

1.0ptions shown in green color and with #" icon are correct.

2.0ptions shown in red color and with #* icon are incorrect.

Question Paper Name:

Subject Name:
Creation Date:
Duration :
Total Marks :

Display Marks:

Share Answer Key With Delivery Engine :

Actual Answer Key :
Calculator:

Magnifying Glass Required? :
Ruler Required?:

Eraser Required? :

Scratch Pad Required? :

Rough Sketch/Notepad Required? :
Protractor Required?:

Show Watermark on Console? :
Highlighter :

Auto Save on Console?

Change Font Color:

Change Background Color :

Change Theme:

ComputerProficiencyCertificationTest 13th May
2023 Shift 2

Computer Proficiency Certification Test
2023-05-13 19:39:55
120

75

Yes

Yes

Yes

None

No

No

No

No

No

No

No

No

Yes

No

No

No



Help Button: No

Show Reports : No

Show Progress Bar : No
CPCT

Group Number : 1

Group Id : 2549894528

Group Maximum Duration : 75

Group Minimum Duration : 75

Show Attended Group?: No

Edit Attended Group?: No

Break time: 1

Mandatory Break time: Yes

Group Marks : 75

Is this Group for Examiner?: No

Examiner permission : Cant View

Show Progress Bar?: No

COMPUTER PROFICIENCY AND PROFICIENCY IN GENERAL IT
SKILLS AND NETWORKING

Section Id : 2549897134
Section Number : 1

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 52

Number of Questions to be attempted : 52

Section Marks : 52



Display Number Panel : Yes

Enable Mark as Answered Mark for Review and

Yes
Clear Response:
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 2549897175
Question Shuffling Allowed : Yes
Is Section Default?: null

Question Number : 1 Question Id : 2549896430 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Which of the following is NOT an example of an application software?

Options :

1. % MS-Word

2. % Screen saver program
3. % Operating system

4. % Antivirus program

Question Number : 1 Question Id : 2549896430 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Options :
1. ¥ MS-Word

2. % ThiF R U



3. ¢ JATqRfdT fareeH

4. ¥ GamRy gy

Question Number : 2 Question Id : 2549896447 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
If a computer is switched on but does NOT respond to a system reset, what is it said to be?

Options:
1. * Dead
2. ® Off

3. ¥ Hang

4. % Insensitive

Question Number : 2 Question Id : 2549896447 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Options :
1. % 38
2. % 3t
3. &1

4, % &fafeq

Question Number : 3 Question Id : 2549897551 Question Type : MCQ Option Shuffling : Yes



Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
What is meant by a compiler?

Options :

1. " It translates source code to object code.
2. # Itis a low level language.

3. # It is an assembly language.

4. *# It translates object code to assembly language.

Question Number : 3 Question Id : 2549897551 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Options :

1. ¥ Ig TR P Pl SHiestae HIS & FIfd Fear gl
2. % 7g Ueh [ TR 91T 8
3. % Ug Ueh IrTdel 9TuT 8l

4. % Ig 3ieSlae hls Pl el HTNT H Sfd ol 8l

Question Number : 4 Question Id : 2549898418 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
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Options :



1. % BINOMINV the™

2. ¥ BINOM.INV therr |

3. ¥ INVBINOM W=

4. % INV.BINOM Therr =

Question Number : 4 Question Id : 2549898418 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

Which function returns the smallest value for which the cumulative binomial distribution is greater

than or equal to a criterion value in Excel?

Options :

1. ¥ BINOMINYV function
2. ¥ BINOM.INV function
3. # INVBINOM function

4. % INV.BINOM function

Question Number : 5 Question Id : 2549899320 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Keyboard keys like Caps Lock that turn a feature on or off are called:

Options:
1. % combination keys
2. ¥ toggle keys

3. * function keys



4. ¥ special purpose keys

Question Number : 5 Question Id : 2549899320 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0
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Options :

1. % Bife_I Hie

2. ¢ Tt il

3. ¥ thas hier

4. % WU Ui hiet

Question Number : 6 Question Id : 25498912044 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0
The function of an assembler is to convert;

Options :

1. % basic language into machine language

2. * high level language into machine language
3. ¥ assembly language into machine language

4. # assembly language into high level language

Question Number : 6 Question Id : 25498912044 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0



Correct Marks : 1 Wrong Marks : 0
IR T DTH gRafdd &1 8l

Options:

1. ® If¥ep wwr Sl ALY T A

2. ¥ Jog T AT ot AT e A
3. ¢ 3rgaelt |TST ehl ARAHT wreT A

4, % IrTdclt YT cht I=T TG THT |

Question Number : 7 Question Id : 25498920674 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.AThink Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
What is a Jacquard loom?

Options:

1. # A bird found in Japan

2. ¥ A weaving machine using punched cards
3. * The first computer controlled loom

4. # A machine for writing math tables

Question Number : 7 Question Id : 25498920674 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
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Options :

1. % STUE & URIT ST a7t Teh uaf)

2.



¥ Qe gA1T3 i fS19H U=l 1S ahl SEAHTeT fehaT STrar o
3. ¥ YR gRI AR uge A

4, % ugrs fore areft gen AefiA

Question Number : 8 Question Id : 25498929735 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Options :

1. % AGFsS ROM
2. ¥ PROM

3. % EPROM

4.« EEPROM

Question Number : 8 Question Id : 25498929735 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

The is programmed and erased electrically. It can be erased and reprogrammed about ten

thousand times.

Options :
1. # masked ROM
2. ¥ PROM

3. ¥ EPROM

4.



¥ EEPROM

Question Number : 9 Question Id : 25498929896 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Options:

1. ¥ PDF417

2. ¥ Aepfirre

3. % 3oy Afed

4. % gHreaR (Codabar)

Question Number : 9 Question Id : 25498929896 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Which of the following barcode fonts stores large amounts of text and data in a compressed form

that is also used by airlines on boarding passes?

Options :

1.+ PDF417

2. # MaxiCode
3. % Data Matrix

4. % Codabar

Question Number : 10 Question Id : 25498929978 Question Type : MCQ Option Shuffling : Yes



Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Which of the following is a video conferencing software?

Options :

1. ¥ Google Meet
2. % Google Docs
3. ¥ Google Map

4, ® Google Pay

Question Number : 10 Question Id : 25498929978 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Options :

1. % Goggle Meet
2. * Google Docs
3. ¥ Google Map

4, ®# Google Pay

Question Number : 11 Question Id : 25498931270 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0
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Options :



1. % 16-fac

2. ¥ 32-fd¢

3. ¥ 64-f3e

4, % 128-f3¢

Question Number : 11 Question Id : 25498931270 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0
Accelerated Graphics Port (AGP) expansion slot on the motherboard runs on a bus.

Options :

1. % 16-bit
2. ¥ 32-bit
3. # 64-bit

4. % 128-bit

Question Number : 12 Question Id : 25498931334 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.AThink Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
What is the Hexadecimal equivalent of (100)19?

Options :
1. % 160
2. % 256
3.¥ 64

4. % 16



Question Number : 12 Question Id : 25498931334 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Options :
1. % 160
2. % 256
3.¥ 64

4. % 16

Question Number : 13 Question Id : 25498933058 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Which of the following keyboards is designed in the likeness of old-fashioned type writer?

Options :

1. ¢ Qwerty keyboards

2. * Numeric keypads

3. # Ergonomic keyboards

4, # Magic keyboards

Question Number : 13 Question Id : 25498933058 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Options :

1. ¥ FIE SIETS

2. % AR fids
3. ¥ g hiere

4. % A hIarS

Question Number : 14 Question Id : 25498933186 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

In the , seven digit binary numbers (between 0 to 127) are used to represent specific

characters.

Options :

1. ¢ ASCII character set

2. % Binary Coded Decimal
3. #* Gray Code

4. * Decimal Code

Question Number : 14 Question Id : 25498933186 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Options :
1. ¢ ASCII iR ¥e

2. % g3 opies sdHaA



3. ¥ Jate

4. % 34T s

Question Number : 15 Question Id : 25498933944 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
allows screen positions to be selected with the touch of a finger.

Options:

1. % Touch panel
2. % Keyboard
3. * Light Pen

4, # Mouse

Question Number : 15 Question Id : 25498933944 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Options :
1. 9 09
2. ¥ R
3. ¥ dgec uA

4. ® A3

Question Number : 16 Question Id : 2549898791 Question Type : MCQ Option Shuffling : Yes



Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Which of the following is NOT a component of LAN?

Options :
1. % Tube
2. % NIC
3. ¥ Switch

4. % UTP

Question Number : 16 Question Id : 2549898791 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
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Options:
1. ¥ @@
2. % NIC
3. ¥ f&g

4. % UTP

Question Number : 17 Question Id : 2549899478 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : 0 Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Which of the following is NOT a characteristic of impact printers?

Options :



1. ® Very noisy
2. ¥ Very high consumable costs
3. # Useful for bulk printing due to low cost

4. ® There is physical contact with the paper to produce an image

Question Number : 17 Question Id : 2549899478 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Options :

1. % 3 ggd AR A &

2. ¢ 3 IUNTT AT Fgd e gttt &

3. ¥ geh gRT fUfdT &l AT 9Igd A 3Tt 8 3afery siferes deam A fUfder o forg g-rent Iyt fehar SirdT &

4. % 3qch gRT BUTS & [oT¢ JUR & BTY T UchsT USdT &

Question Number : 18 Question Id : 2549899492 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

If you want to set the number of copies to be printed in MS-Word, then which of the following is

the correct option?

Options:
1. ¢ File->Print->in 'copies' option, enter number of copies
2. # File->Print->Properties->Quality->select number of copies option, enter number of copies

3. # File->Print->Properties->Page setup->select number of copies option, enter number of copies



4. # File->Print->Properties->Page setup->select output size option

Question Number : 18 Question Id : 2549899492 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Options :

1. ¢ wIgd -> file -> 'l faeea & ufaal hf T ufae e
2. % w1Ed -> fiie -> Ufudist -> garferd) -> 'ufaat 6t e’ fGeed et g4, ufaat &t T ufde &
3. ® WIgd -> fiie -> UTIER -> O Qeary -> 'ufaal i e faeed’ g4, ufaa 6 dwer ufde o

4. ¥ g -> fiie -> UIYERsT -> 09 923y -> '313cye a1l e T4

Question Number : 19 Question Id : 2549899599 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : 0 Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0
With reference to printers, PJL stands for:

Options :

1. * Portable Job Language
2. * Portable Job Library

3. ¥ Printer Job Library

4. + Printer Job Language

Question Number : 19 Question Id : 2549899599 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time



: N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0
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Options :

1. % Portable Job Language (Giéde Siid aiiae)
2. % Portable Job Library (didset Siig egsi<)
3. # Printer Job Library (fliex Siiq @igsiiY)

4. ¢ Printer Job Language (flicz Sifq ivdw)

Question Number : 20 Question Id : 2549899627 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0
Which of the following is NOT a printer manufacturing company?

Options :

1. % Epson

2. % Canon

3. * Nippon Electric

4. ¥ Tindle

Question Number : 20 Question Id : 2549899627 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Options :

1. ¥ g4 (Epson)



2. # &a9 (Canon)
3. # fuiq geifeea (Nippon Electric)

4. + & (Tindle)

Question Number : 21 Question Id : 25498911108 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Options :

1. % 801.12
2. % 801.22
3. ¥ 802.11

4. % 802.13

Question Number : 21 Question Id : 25498911108 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Which of the following is the IEEE standard for wireless networks?

Options :

1. % 801.12
2. % 801.22
3.+ 802.11

4. * 802.13



Question Number : 22 Question Id : 25498911261 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Gateway works at which of the layers of the OSI model?

Options :

1. * Physical layer
2. ® Session layer
3. ¥ Network layer

4. # Data link layer

Question Number : 22 Question Id : 25498911261 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0
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Options:

1. % fOhfoichet 2R
2. % JIF W

3. ¥ dedeh iR

4. ¥ 3T fefeh @R

Question Number : 23 Question Id : 25498911272 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : 0 Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

The major advantage of FM over AM is:



Options :

1. * higher geographical interference

2. % high radiated power

3. * more complicated receiver and transmitter

4. ¢ improved signal to noise ratio

Question Number : 23 Question Id : 25498911272 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
AM T gt # FM ehT &I <1 T 87

Options :

1. % I=g oiiferes ey

2. % I fafeheor rfeh

3. % 3rfde sifeet Reftar ok giadieR

4. ¢ AR U & fIg dgaR dhd

Question Number : 24 Question Id : 25498913470 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.AThink Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Which of the following features allow you to narrow down the data in your work sheet?

Options:
1. ¥ Filters
2. ¥ Merge Cells

3. * Fill Handle



4, % Format

Question Number : 24 Question Id : 25498913470 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Options:

1. ¢ fthek
2. % 75 9
3. ¥ fthel geal

4. ¥ thiAc

Question Number : 25 Question Id : 25498913778 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : 0 Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
creates a unique, fixed-length signature for a message or data set.

Options :

1. ®* Popular key algorithm
2. % Secret key algorithm
3. #* Public key algorithm

4. ¥ Hashing

Question Number : 25 Question Id : 25498913778 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 1 Wrong Marks : 0
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Options :

1. ¥ UleR &l gaTRYA
2. % Hiche i gemiRud
3. ¥ ufecten I gy

4, gfRim

Question Number : 26 Question Id : 25498918499 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : 0 Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0
The dot matrix printer belongs to which of the following categories of printers?

Options :

1. # Line

2. # Off band

3. * Non-impact

4.« Character

Question Number : 26 Question Id : 25498918499 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0
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Options :

1. % s+

2.



v

#® 3 de

3. ¥ q[9-3le

4. ¥ IR

Question Number : 27 Question Id : 25498918527 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

There are operating systems that perform multitasking. Which of the following is NOT a

multitasking enabled OS?

Options :

1. * Windows 10
2. % Windows XP
3. ¥ Windows 7

4.+ MS DOS 2.0

Question Number : 27 Question Id : 25498918527 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Options :

1. % Windows 10
2. % Windows XP
3. % Windows 7

4.+ MS DOS 2.0



Question Number : 28 Question Id : 25498924004 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

In Graphical User Interface ( GUI ) computer, the is an image that represents an

application, a capability, or some other concept or specific entity with meaning for the user.

Options:
1. % label
2. ¥ jcon
3. ¥ graph

4. % file

Question Number : 28 Question Id : 25498924004 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Options :

1. % dqe

2. ¥ TR

3. # gy

4. % w3

Question Number : 29 Question Id : 25498924033 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0



Correct Marks : 1 Wrong Marks : 0
The is the bar that runs across the bottom of the Windows screen in a computer system.

Options:

1. % Title bar
2. ¥ Taskbar
3. * Toolbar

4. % Menu bar

Question Number : 29 Question Id : 25498924033 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
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Options :
1. ® T3 dR

2. ¢ TEHAR
3. ¥ TER

4, % AR

Question Number : 30 Question Id : 25498924297 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
A program which is input to the compiler is called a

Options :

1. % Source program

2.



# Object code
3. # Translator

4. % Enabler

Question Number : 30 Question Id : 25498924297 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Options :

1. ¢ 9 g

2. % Jifesiae i

3. ¥ gigdex

A

4, ¥ TR

Question Number : 31 Question Id : 2549896773 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Which of the following is NOT an email program?

Options :

1. % Microsoft Outlook Express
2. * Gmail

3. ¥ eBay

4. * Thunderbird



Question Number : 31 Question Id : 2549896773 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
fAafefea & @ o9 91 ves S8« Ui T81 872

Options :

1. * Microsoft Outlook Express
2. % Gmail

3. ¥ eBay

4. * Thunderbird

Question Number : 32 Question Id : 2549897211 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Options:

Question Number : 32 Question Id : 2549897211 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
In Google calendar, key is used to view an event's details.

Options:



4. ¥ E

Question Number : 33 Question Id : 2549897935 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Which among the following is NOT a secondary storage device in a computer?

Options :

1. ¥ RAM

2. # Hard Disk
3. % CD

4. = DVD

Question Number : 33 Question Id : 2549897935 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Options :

1. ¥ RAM

2. % g e

3. % CD

4. = DVD



Question Number : 34 Question Id : 2549898979 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0
In MS-Word tables, the AutoFit button is used to:

Options :

1. # format each columns width to be as bold as the size of the text

2. ¥ format each columns width to be only as wide as the text in the longest cell in the column
3. # cut the text and paste in a new location

4. # make large documents more readable

Question Number : 34 Question Id : 2549898979 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0
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Options :

1. % gdch it hl TSI ohl TR h TR fSIaT dies g & folT UTRefd e

2. ¢ HicdH ¥ I8 dd A T ¢oRe oh ©U H chadl 39T a1 TIST 8 oh [y Uk hied i T1STS b URSTUT e
3. # 2T h the e SR U WM TR UL ehe

4. % g3 SlagHe I 3R Y g1 s

Question Number : 35 Question Id : 25498910503 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



When we apply any change case to an alphanumeric term, which of the following options will be

true in MS-Word?

Options :

1. ¢ It converts only the letters in the alphanumeric.

2. * It converts only the letters and deletes the numbers.
3. ¥ No action will be performed.

4. # It always converts the text into small letters.

Question Number : 35 Question Id : 25498910503 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
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Options :

1. ¥ g hael 18RI &l Aeh-gARS H gRafdd dr gl

2. # gg thad HerRl t uRafdd e g ok Teamsif st ger &di gl
3. ¥ I HRATS g hl AT

4. % Yg ghAT TR hl BIC 31eR) A Jecldl g

Question Number : 36 Question Id : 25498910553 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

In MS-Word, if you choose 'Mirror margins' from the standard margin styles, then the labels, Left

and Right margins change to

Options :

1. * Top and Bottom



2. ® Left and Right
3. ¥ Inside and Outside

4. % Bottom and Top

Question Number : 36 Question Id : 25498910553 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Options :

1. ¥ 21U 3R dicA

2. % due 3R e

3. ¥ ZAg1ge 3R IM3cTISe

4, % diecH 3R 2T

Question Number : 37 Question Id : 25498910577 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

If Deepika wants to hide the ruler, then she has to choose 'View' and select the check box in

MS-Word.

Options :

1. % Ruler

2. * Grid lines

3. ¥ Message bar

4. % Thumbnails



Question Number : 37 Question Id : 25498910577 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
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Correct Marks : 1 Wrong Marks : 0
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Options :
1. ¥ TR
2. % s
3. ¥ U TR

4. % g

Question Number : 38 Question Id : 25498910600 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

From the following options, identify the special types of indentation in MS-Word.
a) First line

b) Hanging

c) Left indent

d) Right indent

Options :
1.43a,b
2. % b, c
3.% b, d

4, % a,C



Question Number : 38 Question Id : 25498910600 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
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a) Ugeft airg
b) g

C) IIf g2

d) & §8e

Options:
1.+ a,b
2. % b, c
3.% b, d

4, % 3, cC

Question Number : 39 Question Id : 25498910722 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Which of the following option is invalid during document search in MS-Word?

Options :

1. # Match case

2. ¥ No formatting

3. * Find whole words only

4. * Sounds like

Question Number : 39 Question Id : 25498910722 Question Type : MCQ Option Shuffling : Yes



Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Options :

1. % gy

2. ¥ 1 BT

3. ¥ B gicT a9y el

4. ¥ R3S d3h

Question Number : 40 Question Id : 25498911504 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Following are the steps to turn off the Capitalize the first letter of sentences feature in MS-Word.

Arrange the steps in the correct order.

a) Make sure the AutoCorrect tab is displayed.
b) Choose AutoCorrect Options from the Tools menu. Word displays the AutoCorrect dialog box.
¢) Click on OK.

d) Clear the Capitalize First Letter of Sentences check box.

Options :

1.¥Db,a,d,c
2. % Db,a,¢d
3.% b,d, a,c

4. # b, c,d, a

Question Number : 40 Question Id : 25498911504 Question Type : MCQ Option Shuffling : Yes



Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

MS-Word & dhftedrsst & it dex 3iTth T HiaR @l ¢ e o R0l AEfeiRad &1 a=on ol 9a! ohd § aafeq
Gyl
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b) o A ¥ dilctaheae fached I+ | Word Hicihiae SenT die Uafeid &edl g
¢) OK IR feRfeh &l

d) 'Capitalize First Letter of Sentences' 9 dia i fFeTaR &L

Options :

1.¥Db,a,d,c
2. % Db,a,cd
3.%Db,d a,c

4. % pb,c,d, a

Question Number : 41 Question Id : 25498911881 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

In MS-Word, feature has to be selected under the Balloons command to show deletions as

crossed out and comments inline.

Options :

1. * All Revisions Inline

2. ¥ Show All Revisions Inline
3. # Show Revisions in balloons

4. # Show only comments and formatting in balloons
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:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Options :
1. % goft Refte gets

2. ¢ it Refie e feamg
3. % Refrorit ot e & R

4. % o # daet e SR WHERT Rear

Question Number : 42 Question Id : 25498911955 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Which of the following is a character encoding standard?

Options :
1. % ASCII
2. # ISO

3. % HTM

4. % XML

Question Number : 42 Question Id : 25498911955 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Options :
1. % ASCII
2. # 1ISO

3. % HTM

4. % XML

Question Number : 43 Question Id : 25498912491 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
What happens to the screen when we open a header section in MS-Word?

Options :

1. ¥ Document area appears shaded; header marker and dashed line show up.
2. ¥ Screen will remain unchanged.

3. * Header area brightens up.

4. % Footer section collapses

Question Number : 43 Question Id : 25498912491 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Options :
1. ¢ Stergiic TRaT g Rzars 44T 8, g% AT 3R 337 @13 I3Ra fe@rd 3t &1

2. ¥ Th uRafdd gt



3. % gex uRar 99eeR 8l ST 8|

4. ¥ G Y T gl ST gl

Question Number : 44 Question Id : 25498919196 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

In MS-Word, to start from ready to use mail merge template that can be customised according to

the needs, radio button has to be enabled under the Select starting document step.

Options:

1. % Use the current document
2. ¥ Start from a template

3. * Start from existing template

4. % Start using current document

Question Number : 44 Question Id : 25498919196 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Options :

1. ¥ gAAT SIRIHC T FEIATA e
2. ¢ fohdll THeiT 8 I

3. # HISEl el I F

4. ® gdA SlRTH & ITTNT T LF e



Question Number : 45 Question Id : 25498920453 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0
WWW uses protocol.

Options :
1. % FTP

2. ¥ HTTP
3. ¥ WBC

4. % MTP

Question Number : 45 Question Id : 25498920453 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0
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Options :
1. % FTP

2. % HTTP
3. % WBC

4. % MTP

Question Number : 46 Question Id : 25498923777 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
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Correct Marks : 1 Wrong Marks : 0
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Options :

1. % gER ffaa wida
2. ¥ J¢ opae 9idg

3. % g iy

4. « 3Lz AAfSiT

Question Number : 46 Question Id : 25498923777 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

In , a user on the Web can contact another user who is logged in and continue with the

conversation.

Options :

1. # hyper terminal services
2. * net connect services

3. * instant services

4. ¥ instant messaging

Question Number : 47 Question Id : 25498925308 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Which of the following is NOT the Section Break Option in MS-Word?

Options :

1. % Previous Page



2. * Next Page
3. #* 0dd Page

4. * Even Page

Question Number : 47 Question Id : 25498925308 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Options :

1. ¢ Wifdag o
2. ¥ JFE 09
3. ¥ 3fig Uar

4, % 299 U

Question Number : 48 Question Id : 25498925342 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
In MS-Word, the page orientation will NOT affect font style, font colour, and .

Options :

1. ® page spacing

2. * height and width
3. ¢ font size

4. ¥ number of lines in a page
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Correct Marks : 1 Wrong Marks : 0
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Options :

1. % oo Widw

2. % &8 qur Areis
3. ¥ I & TR

4. % UST § TSI hy I

Question Number : 49 Question Id : 25498925491 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
How will you save the existing document file in another folder in MS-Word?

Options:

1. # File->Save

2. % Ctrl + S ->Select Folder
3. ¥ File->Save As

4, = Insert ->Save As

Question Number : 49 Question Id : 25498925491 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
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Correct Marks : 1 Wrong Marks : 0
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Options :

1. * File->Save

2. % Ctrl + S ->Select Folder
3. ¥ File->Save As

4, # Insert ->Save As

Question Number : 50 Question Id : 25498925509 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Which of the following font effects places text below other characters on the same line in MS-

Word?

Options :

1. % Subscript

2. % Strikethrough
3. ¥ Emboss

4. % Superscript

Question Number : 50 Question Id : 25498925509 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
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Options :
1. ¢ gafehe

2. % TIgHY

3.



v

% gHary

4, % gRfEpe

Question Number : 51 Question Id : 25498930511 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

In MS-Word, some dialog boxes have multiple tabs. You can switch between these tabs by

pressing the keys together.

Options:

1. % Ctrl+Z
2. ¥ Ctrl + Tab
3. ®# Alt+Tab

4, % Alt+N

Question Number : 51 Question Id : 25498930511 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
TAUY-JE H, TS SN diad | &g ¢d gid 81 31T SISl ol Yok ATY GdTRY 371 ¢ oh A1 LT e Fohd &1

Options :

1. % Ctrl+Z
2. ¥ Ctrl + Tab
3. % Alt+Tab

4. % Alt+N

Question Number : 52 Question Id : 25498933769 Question Type : MCQ Option Shuffling : Yes



Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
While working with MS-Word, option is not available in the file menu.

Options :

1. * Print

2. ¥ Header & Footer
3. * Save As

4, = Save

Question Number : 52 Question Id : 25498933769 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
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Options:
1. % fijc
2. ¥ R IR G
3. % g o9
4. ® 99
READING COMPREHENSION
Section Id : 2549897135
Section Number : 2
Section type : Online

Mandatory or Optional : Mandatory



Number of Questions : 1

Number of Questions to be attempted : 1

Section Marks : 5

Display Number Panel : Yes

Enable Mark as Answered Mark for Review and

Clear Response: ves
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 2549897176
Question Shuffling Allowed : No

Is Section Default? : null

Question Id : 25498921205 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0
Question Numbers : (53 to 57)

Read the given passage and answer the questions.

My brother was five years elder to me but only three grades ahead. He'd begun his studies at the
same age as I had, but he didn't like the idea of moving hastily in an important matter like
education. He wanted to lay a firm foundation so he took two years to do one year’s work. I was
nine, he was fourteen. He had full right to supervise and instruct me. And I was expected to accept

every order of his as law.

By nature he was studious. He was always sitting with a book open. And perhaps to rest his brain,
he would sometimes draw pictures of birds and cats in the margin of his notebook. Occasionally,
he would write a name, a word or a sentence ten or twenty times. He might even create new

words which made no rhyme or reason. To understand his creation was beyond my powers.

I wasn't very keen about studies. To sit with a book for an hour was a tremendous effort. As soon
as I found a chance I'd leave the hostel and play marbles or fly paper kites or sometimes just meet

a friend. Sometimes we would climb on to the courtyard walls and jump down. But as soon as I



came back into the room and saw my brother’s scowling face I lost all my power to think. His first
question would be, “Where were you?” My silence was an acknowledgement of guilt and my

brother’s only remedy was to greet me with indignant words.

“If you study English this way you'll be studying your whole life! Studying English is no laughing
matter, that anyone who wants to, can learn. Haven't you seen how much I grind? Everyday there
are cricket and hockey matches but I don't go near them. I keep on studying all the time and even
then it takes me two-three years for one grade. So how do you expect to pass? It would be better
that you went home and played gilli-danda to your heart's content. Why waste our father's hard

earned money?”

Sub questions

Question Number : 53 Question Id : 25498921206 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0
The author had to follow every order by his brother mainly because the brother:

Options :

1. # was wiser than him

2. ¥ was senior to him in age
3. * was more knowledgeable

4. % had a firm foundation

Question Number : 54 Question Id : 25498921207 Question Type : MCQ Option Shuffling : Yes
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Which of the following shows that the author’s brother was actually NOT studious?

Options :

1. #* He always sat with a book open.



2. # He never went to watch a match.
3. ¥ He took two years to pass a class.

4. % He didn't go out to play.
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Correct Marks : 1 Wrong Marks : 0
How do we know that the author was good at his studies?

Options :

1. % There was less gap between the author and his brother’s grades than their ages.
2. * Both, the author and his brother had started studies at the same age.

3. ¥* The author found it hard to sit with a book.

4. # The author loved to play marbles and fly kites.

Question Number : 56 Question Id : 25498921209 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
When the author returned from playing, his brother would do all of the following, EXCEPT:

Options :

1. * make him feel guilty
2. * scold him

3. ® scowl at him

4. ¥ make him happy

Question Number : 57 Question Id : 25498921210 Question Type : MCQ Option Shuffling : Yes
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The author would feel guilty because:

Options :

1. % he went to play instead of studying

2. ¥ he scored better marks than his brother
3. # he had not studied English

4. ® he was wasting his father's money
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None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0
Question Numbers : (53 to 57)
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What will come in place of the question mark (?) in the following expression?

93 x 812 =272 = (3)°

Options :

1.% 3

Question Number : 58 Question Id : 25498928826 Question Type : MCQ Option Shuffling : Yes
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93 x 812+ 273 = (3

Options :
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Correct Marks : 1 Wrong Marks : 0
What will come in place of the question mark (?) in the following expression?
272 x6+9+(7)P+71=(2)3—431

Options :

1 @11
2. (13)°

3 % 13

4 % (11)?

Question Number : 59 Question Id : 25498928892 Question Type : MCQ Option Shuffling : Yes
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F=aafEa Ta 7 9o fREa (?) & TUT 9T 34T HIOe?
(27)2 x 8 + 9 + (7)° + 71 = (?)3-431

Options:
1.« 11
5 % (13)°

3 % 13

4w (1)
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What will come in place of the question mark (?) in the given number series?

190, 94, 46, 22,7, 4

Options:
1. %19
2. %15
3.410

4. % 8

Question Number : 60 Question Id : 25498929050 Question Type : MCQ Option Shuffling : Yes
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Freafoi@a gear y@enr § yeaREd (?) & T W FaT 31T’

190 94 46 22 7 4
Options :

1 % 19

5, % 15

3 v 10
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Find the approximate value of the question mark (?) in the following expression.

7= 43985+ 10.98 x 9.32
Options :

1. % 0.5
2. %10
3. ¥ 37

4. % 45

Question Number : 61 Question Id : 25498929099 Question Type : MCQ Option Shuffling : Yes
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? = 43.985 + 10.98 x 9.32
Options :

1. % 0.5
2. %10
3.% 37

4. % 45
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If the weight of 19 sheets of paper is 30 g, then how many sheets of the same paper will weight 1 é kg?

Options :
1. % 570
2. ¥ 760
3. # 800

4. % 950

Question Number : 62 Question Id : 25498929379 Question Type : MCQ Option Shuffling : Yes
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Options :

| % 570
5 v 760
5 % 800

4 % 950
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As observed from the top of a lighthouse, 120 m above sea level, the angle of depression of a ship,
sailing directly towards is, changes from 30° to 45°. The distance (in m) travelled by the ship during

the period of observation is nearest to:

Options :
1. % 86.7
2. % 86.9
3. % 87.8

4. * 88.9

Question Number : 63 Question Id : 25498929664 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
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Options:
1. % 86.7
2. % 86.9
3.4 87.8

4. % 88.9

GENERAL MENTAL ABILITY AND REASONING
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Unscramble the letters in the words given in options, and find the odd one out.

Options:

1. % HARCI
2. # EANOGR
3. ¥ ABNNAA

4. % EALPP
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Correct Marks : 1 Wrong Marks : 0
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Options:

1. ¥ HARCI
2. # EANOGR
3. ¥ ABNNAA

4. % EALPP
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Select the pair from among the options that will fill in the two blanks, respectively, to form a true

and sensible sentence.

is to second as day is to

Options :

1. ®* Watch - Friday
2. ¥ Minute - Hour
3. * First - Hour

4. * First - Light
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Options :
1. ¥ 93l - YRR
2. ¥ e - e

3. ¥ Uy - ger

4, * YYH - YhIA
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Select the option that is related to the third number in the same way as the second number is

related to the first number.
335:216::987:7
Options:

1. % 867

2. ¥ 868

3. % 872

4. % 888
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335:216::987:7

Options:
1. % 867
2. ¥ 868
3. # 872

4. % 888
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Between the two book-ends in your study are displayed your five favourite puzzle books. If you
decide to arrange the five books in every possible combination and moved just one book every

minute, then how long would it take you?

Options :

1. % 1 hour
2. % 2 hour
3. * 3 hour

4. % 4 hour
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1. % 1 dar
2. 2 de
3. % 39¢

4. % 449¢
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Four words have been given, out of which three are alike in some manner and one is different.

Select the one that is different.

Options :

1. % Lima

2. * Algiers

3. ¥ New York

4. ® Tokyo

Question Number : 68 Question Id : 25498919818 Question Type : MCQ Option Shuffling : Yes
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Options:
1. % &
2. ¥ Iroofiad

3. ¥ gl



4., % TRt
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Select the option which satisfies the same conditions of placement of the dot as in figure shown here.

Pl

7

Options:
/
L
1. %
D)
2. %
A
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The Ninth Five-Year Plan in India covered the period of:

Options :

1. % 1990-1995
2. % 1992-1997
3. % 1997-2002

4. * 1999-2003
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Options:

1. ¥ 1990-1995
2. # 1992-1997
3. ¥ 1997-2002

4. % 1999-2003
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The breeding, rearing and transplantation of fish by artificial means is called

Options:



1. # aquaculture
2. * horticulture
3. ¢ pisciculture

4. % vyiticulture
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Options :

1. ¥ QedTcheaR
2. ¥ giféher
3. ¢ fU&fteheeR

4. % O&theer
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Geoff Boycott's name is associated with which of the following games?

Options :
1. % Boxing
2. ¥ Cricket
3. #* Golf

4. % Swimming
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Options:
1. ¥ HahaTolt
2. ¥ fohche
3. ¥ TMeth

4. % qqht
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Match the columns.

Landforms Processes

A. Kick point 1. Karst

B. Sink hole 2. Fluvial

C. Point bar 3. Plantation

D. Accordant summit 4. Rejuvenation
Options :
1. # A-3,B-2,C-1,D-4

2. ¥ A-4,B-1,C-2,D-3

3. % A-3,B-1,C-2,D-4



4. % A-4,B-2,C-1,D-3
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Options :

1. % A-3,B-2,C-1,D-4
2. ¥ A-4,B-1,C-2,D-3
3. % A-3,B-1,C-2,D-4

4. % A-4,B-2,C-1,D-3
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How many times has financial emergency been declared in India till August 2021?

Options:
1. #* Once

2. #* Four times



3. #* Five times

4. ¥ Never
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Options :

1. ¥ T aR
2. # gRER
3. ® g IR

4, ¢ YheR ot 781
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Hydrolysis of cane sugar is called:

Options :

1. % saponification
2. # hydration

3. ¥ inversion

4. % esterification
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Domestic and international communication has expanded across the globe. This is the
reason why there is a need for a global language like English which has become the lingua
franca in major parts of the world. English is one of the most dominating languages in the
world. It has an impact on every field of work. Although with the positive outcomes the
negatives outweigh them to some degree as it means that many languages will perish out
as a result. A global language is one that is spoken and understood at an international level
by a wide variety of people. A global language is learned by several people as a second
language. English is known to be the global language in that context. There are arguments
that languages have a strong link between dominance and cultural power. The main factor
that the languages exist is because of a powerful power base. The English language itself
was derived from languages such as German and Latin and other European languages.
Linguists argue whether the simplicity of the English language is the main reason for it
becoming a global language. Generally difficulty level varies for everyone and there are
different factors involved when a person starts learning a language. While learning another
language one can observe that some languages are more difficult than others. Some
languages have many similarities in pronunciation and words. For example Greek has
similarities with Italian. Then there are languages having rough pronunciation or spelling
and are dissimilar to any other language such as German. English is a very effective
language and that is proved by the many native and foreign speakers worldwide. Statistics
show nearly a quarter of the world is already fluent or content in English. Though the
number of native Mandarin speakers is greater it is still not a global language because of its
complicated letter system and grammar. Thus for a language to become a global language it
has little to do with the number of native speakers. English helps to express various
meanings. It has a lot of words with different meanings and different types of syntax which
help the speaker to express with great accuracy. Another factor that makes English efficient
is its compact letter system. It is unlike Mandarin with a ten thousand letter writing system
which proves to be very difficult for people. Moreover the English language is very phonetic
rather than character based. Hence it can help to describe the actual sounds of words or
phrases. A poor feature of the English language is that there could be words with similar

sounds but with different meaning. This can confuse non native speakers. Another difficulty



in English is different regions of native English speakers have their accents which makes an
outsider or a beginner learner of the language to not understand them clearly. Foreign
speakers also have their specific accents. Since English is so widely spoken in the world
many have taken up English as their second language. English has allowed a common
communication means between people of different backgrounds. Hence English has helped
to diminish certain cultural barriers between nations. However there are still cultural
differences between countries and nations. In India which has thousands of local languages

English is used as the official language as a smooth communication mean.
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